2009 = =0l &b 2B A

A CAD
B XS

chel: melHE 4

SN (B) - MBEAY - B2 0f Ao Soe HRZ2
S Al D} 22,304,338 20,076,409 2,227,929
= 450,000
g 1,800,000
= 1,496,500
Al 18,557,838
Xy 21,502,075 18,923,659 2,578,416
= 450,000
g 1,800,000
= 1,496,500
Al 17,755,575
22| H & 834,360 228,211 606, 149
S ASE (XA 24,360 33,211 A8,851
201 2et2Ad| 15,720 21,000 N5,280
01 AtR22ld| 15,720 12,000 3,720
O+ gH| 9,000
—SAHEFAEH A2 P2 9,000
o2gsdg 6,720
P ECEER-2PS=
70,000& x16H 63| 6,720
202 O] 8,640 0 8,640
01 =2WAbI 8,640 0 8,640
O=2LHAH | 8,640
2el HE=E=X(XHA) 810,000 195,000 615,000
207 HAFRINEHI 800,000 180,000 620,000
01 d3xE49H| 800,000 180,000 620,000
OSAZ2IHE (RRANSNE) + 100,000
O2€=X JI2HE =& (A=1,667,630m") 700,000
401 Al&EHILL200H] 10,000 15,000 A5,000
03 Al S£01bI 10,000 15,000 A5,000
O A2l HE S 10,000
TAIHEEZ 20,643,000 18,674,500 1,968,500
= 450,000
g 1,800,000
== 1,496,500




A CAD
B XS

CHel CAINEER (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
SAAHEEZ Al 16,896,500
FAHSIMEAAMS (BX) 3,600,000 5,506,000 21,906,000
s 1,800,000
L= 900,000
Al 900,000

401 A& HIZL=2OHI 3,600,000 5,506,000 1,906,000
s 1,800,000
= 900,000
Al 900,000

01 AlI&HI 3,594,000 5,456,000 1,862,000
028 F=HE A& 3,594,000
s 1,797,000
= 898,500
Al 898,500

03 AlZ=0dl 6,000 50,000 A44 000
O2etHl =HEZ N 6,000
s 3,000
= 1,500
Al 1,500

CRHE(EX) 1,250,000 50,000 1,200,000
L= 500,000
Al 750,000

401 AIEHIZL 2O 1,250,000 50,000 1,200,000
& 500,000
Al 750,000

01 A&l 1,250,000 50,000 1,200,000
ORMZER 2= 2944 (L=1,300m) 1,250,000
< 500,000
Al 750,000

HEMEH =R (EX) 643,000 312,000 331,000
= 450,000
= 96,500
Al 96,500

401 AIEHIZROY] 643,000 312,000 331,000
= 450,000




S SAID
J(-Iil-l: I'g:!thél

ool SANEER (5l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
401 AlEHIL =0 = 96,500
Al 9,500
01 Al&H] 643,000 312,000 331,000
OMENGHE (G & ) =2 (L=600m) 643,000
2 450,000
= 96,500
Al 96,500
SE 0 (XHA) 15, 150,000 2,806, 500 2,343,500
401 Al&HI L2 15, 150,000 12,805,000 2,345,000
01 Al&H] 15, 130,000 12,755,000 2,375,000
ONE4IE TAANEZ2HA
(L=290m, B=6~8.0m) 800,000
ORTUSH-S2 DN H2E L1 (247H) 200,000
OLH0I5S SAHEC2HA
(L=140m, B—8.0m) 400,000
Osl0ltY TAHNE RN
(L=330m, B=20.0m) 2,000,000
OLHOIRMZ~L A2t TAHEE 2
(L=190m, B=8.0m) 400,000
O2ls TAINE 204 (L=120n, 8-8.0n) 300,000
OUYD-2XNLat2 TAHEZ 2
(L=110m, B=8.0m) 200,000
OatgRAY TAHHT 2N
(L=920m, B=25.0m) 800,000
OSU-US2 CAHHCRINA
(L=410m, B=6.0m) 500,000
OU AT R E A (A=245,085 ) 2,100,000
O+ MAIIIIE~SHEAXCAH S2HA
(L=550m, B=8.0m) 800,000
ONERIZAHEE2HA
(L=170m, B=8n) 500,000
OLAATI-INBHLL CAHLCENA
(L=210m, B=35.0m) 2,600,000
OMEBE TAHEC2HA
(L=130m, B=8.0m) 700,000
OMBEX TUE 24 (L=500n, B=2.0n) 70,000




S SAID
ESESBDNE=-D] =y

CHel CAINEER (et9l: &2
S FB SR (E) - NRAY - Be S 0 &t Soe RS2
OULSERE TAAHEZZ2ML
(L=46m B=6.0m) 150,000
OUsE TAHEEZNE
(L=110m, B=8.0m) 600,000
OJ==X &N 2 &%
(L=760m, B=2.0m) 100,000
OJIAHERT] Gh=HMeld Al (A=1,560m) 60,000
Oug TAIHE =244 (L=190m, B=6.0m) 500,000
ORAOHIENYZ HH=5}
(L=260m, B=6.0m) 200,000
OZAHEEZ Ald2 H.E= 100,000
OZAMNEAY AAILHEA 100,000
OEAHEEZ OI2E2X 24 300,000
OJt=88 TAHEEZZNE
(L=100m, B=8.0m) 300,000
OH =58 TAHEEZNE
(L=50m, B=6.0m) 200,000
Osgitesd & =X (14]) 150,000
03 A4 =0 20,000 50,000 A30,000
O AHEZZ 20,000
A& 2tel 24,715 20,948 3,767
CRANE Sl (XHA) 24,715 20,948 3,767
101 1At 6,715 8,948 N2,233
10 JIZH22XNSE+ 6,715 8,948 N2,233
OJI=XotE =& 22 F 6,715
—Jl=s 40,8102 115 1Y 4,694
—=Xt=g 40,8103 2114 858
—EX==g 40,8102 x5 +1H 205
—5L22*E 40,8103 #1.5%10€ + 1 613
— ZHAH] 3,000 x115& 1Y 345
201 LEH= | 11,500 12,000 A500
01 AtR2cibl 2,000 2,000 0
Oget+=SH| 2,000
—HgE2 BEztel 1,000
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2AM: AL
B WESAAY (TAID)
chel: oz 2yl (£49: & 2)
_ _ _ Muo
SNBSS - HRAY - BHES 01l & o4 e HIRZE2
OFA2ILLF2HI 4,200
Jl23| 70,563 66,550 4,013
Jl2Zl (XA 70,563 66,550 4,013
201 et 16,723 16,630 93
01 At 2eldl 16,723 16,630 93
OFAMSEII23HI 16,723
202 OiHl 53,840 49,920 3,920
01 3LUAbI 53,840 49,920 3,920
O=LH bl 53,840
HEas (T A 700,000 1,055,500 A 355,500
LHEHH K= 700,000 745,000 245,000
LHEH N XIE (KHAI) 700,000 745,000 A 45,000
701 JIEtSIHEE= 700,000 700,000 0
01 JIEtSIHEEZ 700,000 700,000 0

OZI0IEE SAHEZZR(EX)Z 4 700,000




